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In all cases, IgA means the complete form as found, for example, in saliva.

1. The main antibody class in blood is:

A. IgA 

B. IgG

C. IgM

2. The main antibody class made by the fetus before birth is:

D. IgG

E. IgM

F. IgD

3. The antibody that's responsible for allergy, for example to ragweed, is:

G. IgA 

H. IgG

I. IgE

4. The first immunoglobulin component to appear in a developing B cell is:

J. Mu heavy chain

K. Light chain

L. Cytoplasmic IgM
5. The antibody class that penetrates least well into the tissue fluid is:

M. IgG

N. IgM

O. IgE
6. The antibody class whose only known role is as a B cell receptor is:

P. IgG

Q. IgM

R. IgD

7. A B cell in the spleen is secreting IgG. When you check again in 3 days, which one of the following classes can you be sure it will not be secreting?
S. IgA
T. IgG
U. IgM
8. Cells that express class II MHC on their surface include:

V. B cells, Dendritic cells, Helper T cells

W. B cells, Macrophages, Dendritic cells

X. Cytotoxic T cells, Macrophages, Dendritic cells

9. When a T-independent antigen, such as a complex carbohydrate, is injected, you expect to see plasma antibody of which class?
Y. IgM
Z. IgG
AA. IgE

10. In the human H chain locus, there are 65 V, 27 D, and six J gene segments. (65x27x6=10,530).  You expect to find in the serum how many different H chains in antibodies?

AB. 10,530

AC. more than 10,530

AD. less than 10,530

11. Each molecule of antigen A has three epitopes; each epitope is different from the others.  I make a monoclonal IgG antibody against one of these epitopes.  I mix equal numbers of monoclonal antibody molecules and antigen A molecules.  Concerning the precipitate I expect to see:

AE. I do not expect to see a precipitate

AF. It will contain equal amounts of antigen and antibody molecules

AG. It will contain three times as many antigen as antibody molecules

12. Properties of complement include two, but not which one of the following:

AH. It is opsonizing
AI. It is anaphylatoxic

AJ. It is MHC-restricted

13. Cytotoxic T lymphocytes recognize antigen presented on:

AK. MHC class I
AL. MHC class II
AM. Either MHC class II or MHC class I

14. If a person lacks the ninth component of complement, by which complement pathway will he or she be unable to lyse bacteria?

AN. Not by the classical pathway

AO. Not by the alternative pathway

AP. Not by either pathway 

15. I mix a normal person’s peripheral blood T cells with something.  Within three days, 97% of the T cells are observed to have divided at least once. (Without the addition, no T cells divided.) “Something” was probably:

AQ. A mitogen

AR. An antigen

AS. Someone else's macrophages

16. I wish to set up a capture ELISA assay to measure growth hormone in plasma.  To do this test, I will require two of the following, but not which other one?
AT. A monoclonal antibody to one growth hormone epitope

AU. A monoclonal antibody to a different growth hormone epitope

AV. Fresh complement

17. At 12 weeks after birth the concentration of maternal IgG in an infant should be what fraction of the concentration on the day of birth?

AW. One quarter
AX. One sixteenth
AY. One sixty-fourth

18. A woman’s phenotype is HLA-A 1,3; HLA-B 5,7; HLA-DR 9,11. A man’s phenotype is HLA-A 1,4; HLA-B 6,8; HLA-DR 12,14. Which of these children could NOT be theirs?

AZ. HLA-A 1,1;  HLA-B 5,6; HLA-DR 9,12.
BA. HLA-A 1,1;  HLA-B 5,7; HLA-DR 9,14.

BB. HLA-A 1,4;  HLA-B 6,7; HLA-DR 11,14.

19. Cytotoxic T cells require help from helper T cells to become activated. Under which of these transplantation circumstances will I see activation of the recipient’s cytotoxic T cells?

BC. The donor and recipient are identical at Class I MHC but different at Class II MHC

BD. The donor and recipient are identical at Class II MHC but different at Class I MHC

BE. The donor and recipient are different at Class II MHC and Class I MHC
20. A surgeon uses a heart valve from an animal to replace a damaged heart valve in a human patient. This type of graft is called:
BF. A xenograft 
BG. An isograft

BH. An allograft
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If you don’t understand why that’s the answer, or want to discuss it, email JJC at john.cohen@ucdenver.edu
